CHAPTER 10:  Monopoly and Monopsony
Checklist

Can you do the following regarding monopolies and monopsonies?
· Define Monopoly
· Define Monopsony
· Define market power
· Define a multiplant firm
· Define monopoly power
· What factors determine a firm’s elastic demand?
· How is monopoly power tested?
· Define pure monopoly
· What is the social cost of monopoly power
· Define rent-seeking
· Define natural monopoly
· Define an oligopsony
· What are the sources of monopsony power
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CHAPTER 10:  Monopoly and Monopsony
Monopoly:  Output decision
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CHAPTER 10:  Monopoly and Monopsony
Example of profit maximization
[image: ]
	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	




CHAPTER 10:  Monopoly and Monopsony
Shifts in demand
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CHAPTER 10:  Monopoly and Monopsony
Effect of excise tax on monopolist
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CHAPTER 10:  Monopoly and Monopsony
The multiplant firm
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CHAPTER 10:  Monopoly and Monopsony
Deadweight loss from monopoly power
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CHAPTER 10:  Monopoly and Monopsony
Price regulation
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CHAPTER 10:  Monopoly and Monopsony
Regulating the price of a natural monopoly
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CHAPTER 10:  Monopoly and Monopsony
Competitive buyer compared to competitive seller
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Monopsonist buyer
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Monopoly and Monopsony
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FIGURE 10.2 Profit Is Maximized When Marginal Revenue Equais Marginal Cos

(¢ is the output level at which MR = MC. If the firm produces a smaller output—say, ;—
sacrifices some profit because the extra revenue that could be earned from producing ar
selling the units between Q, and Q* exceeds the cost of producing them. Similarly, expan
ing output from Q* to Q, would reduce profit because the additional cost would exceed t]
additional revenue.
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FIGURE 10.3 Example of Profit Maximization

| Part (a) shows total revenue R, total cost C, and profit, the difference between the twe
Part (b) shows average and marginal revenue and average and marginal cos
Marginal revenue is the slope of the total revenue curve, and marginal cost is th
slope of the total cost curve. The profit-maximizing output is Q* = 10, the point wher
marginal revenue equals marginal cost. At this output level, the slope of the prof
curve is zero, and the slopes of the total revenue and total cost curves are equal. Th
profit per unit is $15, the difference between average revenue and average cos

| Because 10 units are produced, total profit is $150.
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FIGURE 10.4 Shifts in Demand

Shifting the demand curve shows that a monopolistic market has no supply curve—i.e., there is no one-
to-one relationship between price and quantity produced. In (a), the demand curve D; shifts to new
demand curve D,. But the new marginal revenue curve MR, intersects marginal cost at the same point as
the old marginal revenue curve MR;. The profit-maximizing output therefore remains the same, although
price falls from P, to P,. In (b), the new marginal revenue curve MR, intersects marginal cost at a higher |
output level Q,. But because demand is now more elastic, price remains the same.
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FiGURE 10.5 Effect of Excise Tax on Monopolist

. With a tax ¢ per unit, the firm’s effective marginal cost is increased by the amount ¢ to :
MC + t. In this example, the increase in price AP is Jarger than the tax f.
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FIGURE 10.6 Production with Two Plants

A firm with two plants maximizes profits by choosing output levels (0, and Q, so that
marginal revenue MR (which depends on fotal output) equals marginal costs for each
plant, MC; and MC,,
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FIGURE 10.10 Deadweight Loss from Monopoly Power

The shaded rectangle and triangles show changes in consumer and producer surplus
when moving from competitive price and quantity, P and Q,, to a monopolist’s price
and quantity, P, and Q. Because of the higher price, consumers lose A + Band :

n

producer gains A ~ C. The deadweight Joss is B + C.
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FIGURE 10.11 Price Regulation

1f left alone, a monopolist produces Qun and charges P, When the government imposes a
price ceiling of P, the firm's average and marginal revenue are constant and equal to Py |
for output levels up to ;. For larger output levels, the original average and marginal rev-
enue curves apply. The new marginal revenue curve is, therefore, the dark purple line,

{ which intersects the marginal cost curve at ;. When price is lowered to P, at the point |
where marginal cost intersects average revenue, output increases to its maximum Q. This
is the output that would be produced by a competitive industry. Lowering price further,

. to P, reduces output to 3y and causes a shortage, 03— Qs i
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FIGURE 10.12 Regulating the Price of a Natural Monopoly

A firm is a natural monopoly because it has economies of scale (declining average
and marginal costs) over its entire output range. If price were regulated to be P, the
firm would lose money and go out of business. Setting the price at P, yields the
largest possible output consistent with the firm's remaining in business; excess profit
i8S Zero.
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| FIGURE 10.13 Competitive Buyer Compared to Competitive Seller

In (a), the competitive buyer takes market price P* as given. Therefore, marginal expenditure and average
expenditure are constant and equal; quantity purchased is found by equating price to marginal value
(demand). In (b}, the competitive seller also takes price as given. Marginal revenue and average revenue
are constant and equal; quantity sold is found by equating price to marginal cost.
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FIGURE 10.14 Monopsonist Buyer

The market supply curve is monopsonist’s average expenditure curve AE. Becauw !

average expenditure is rising, marginal expenditure lies above it. The monopsonist
purchases quantity Qj,, where marginal expenditure and marginal value (demand)
intersect. The price paid per unit P%, is then found from the average expenditure
(supply) curve. In a competitive market, price and quantity, P, and Q,, are both

higher. They are found at the point where average expenditure (supply) and marginal

value (demand) intersect.
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FIGURE 10.15 Monopoly and Monopsony

These diagrams show the close analogy between monopoly and monopsony. (a) The monopolist pro-
duces where marginal revenue intersects marginal cost. Average revenue exceeds marginal revenue, so
that price exceeds marginal cost. (b) The monopsonist purchases up to the point where marginal expen-
diture intersects marginal value. Marginal expenditure exceeds average expenditure, so that marginal
value exceeds price.
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FIGURE 10.1 Average and Marginal Revenue

Average and marginal revenue are shown for the demand curve P = 6 — Q.
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